— HRTH BUER - BORRE=S Y 2

W R B R EGE 1 3 B H)RRE

=
/BB

B

5 Wi 3k

} | iR % | 10/7 | 11/9 | 12/9
A 1 EW%%F& 0.16] 0.11] 0.15
B E BREBESMH 0.15] 0.13] 0.17
EAERA ,ﬂE/\EﬁE‘*““ﬁﬁ 0.19] 0.15] 0.20
A KAKEENERAR 0.20] 0.14] 0.21
18 FAFERAR 0.18] 0.14] 0.15
T M BEEEY: 0.18] 0.14] o0.18
15 1| REE R 0.17] _0.12] 0.17

EREIEEER 0.25] "0.20] 0.23
W R H|— /&R 0.21] _0.13] 0.20
B B ERTRE 0.13] 0.11] 0.18
B X NBRIZ2=FT 25— 0.14] _0.10] 0.12
F 5 I[ERABE 0.18] 0.12] 0.18
A0 B[ EHTESF (i) 0.15] 0.10] 0.16
X F[E-FIF DR 0.22] 0.15] 0.16
A 1BRFKE 0.24] 0.17] 0.21
A T H | AFEEHR 0.22] 0.16] 0.18
I3 HESIeNS 0.19] 0.13] 0.15
i WP BESF 0.18] 0.14] 0.17
i3 e R ¥ 0.18| 0.15] o0.18
LB BT REETE ST 0.18] 0.13] 0.14
T #8| THRE ST 0.16] 0.13] 0.74

: Hh i % | 10/7 | 11/9
= e 0.24] 0.24] 0.17
o MES G 0.19] 0.17] 0.18

K &R 0.23] "0.22] 0.19
i HEAZ ENESAH 0.19] 0.19] 0.16
BT BABSNBVERFD LS 0.17] 0.17] 0.20
I HRABREE 57— 0.16] 0.14] 0.15
G WE/ REEF 0.16] 0.14] 0.14
7 HERASE 0.15] 0.16] 0.16
£ A/ EER TE S 0.16] 0.16] 0.16
23 B BRHEZENR R E— 0.27| _0.25| 0.22
e H| KB E R E L 52— 0.24] 0.23] 0.19
B T JI|ERZER 53— 0.16] 0.13] 0.16

#h X Hh 5 4 | 10/7 | 11/9
L EMEREET 0.21] 0.19] 0.17
b 1EESEE 0.15] 0.14] 0.14
b NS 0.31] 0.32] 0.31
3] H|REHERH 0.29] 027] 0.22
- wlEAE R 0.22] 0.24] 0.19

HALE—REZNEELHBEAO| 0.25| 0.25] 0.23
[ | EELE SRR 0.25] 0.25] 0.23
A RAREMRERRT 0.36] 0.39] 0.41
g H E|FEEEERT 0.25] 0.38] 0.28
B AEEAREEFDE 0.18] 0.18] 0.19
N L/MELESFET 0.18] 0.17] 0.15
B & IERIESH 0.25] 0.26] 0.23
¥ HERERAR 0.18] 0.17] 0.13
2 NENEFHREL 52— 0.22] 021] 0.19
H R[ERESH 0.26] 0.25| 0.24

BEAREILEDE 0.43] _0.44] 044
L W ZALRUREED 0.51] 054] 055

HAEERM 0.48] "0.40] "0.43

B

”
5|

74 -

=720) 1

4= kA SH pi:l
12A158%47 $£138 St
% 1T BERmKEERERE 1H 6H-25H
HE & % TEEF 82—1116 2A 9H-24H

B A0 —NJLR 2 Sv), ()

WE | Hh 5 % | 10/7 | 11/9 | 12/9 $# X | i 25 4 | 10/7 | 11/9 | 12/9
= | LR RS E 25— 0.69| 0.63] 0.57 s M 0.46| 0.42] 0.38
KX EE R E v 5— 062|7055] 053 FRERFI N 0.40|0.40| 031
F 2 K|BFRI—ILE=DG 0.83] 0.83| 083 " B XE R 0.73] 0.74] 0.71
¥ 3 R|EARIBEZREL 53— 068| 053] 053 CIEERR a0 A= X 0787079678
% 4 RBEEMELAR 083 0.71] 075 E R &|ABESH 0.18| 0.19] 0.18
2 5 RBZPRBELE _ 1.02| 093] 087 = _R_m|LmE=m 0.16] 0.15] 017
E B399 BFL R EER feAn | 1.06| 1.20] 1.16 = R mBBRESm 022 021] 024
2 o mIORRAL I 064 0.73] 063 E R | HEAZESm 028| 025] 025
EE268 5 E R B kiR 053|058 0486 = R H|EREER 0.19| o018] o0.18
E 7 RBEARR 039 032] o34] | [E | CIE R T 020 021] 020
% g x|DBAHSEEm 035 _o036] 03a] |5 [F NS 0.15| 0.16] 014
B/ NN SR R (12/10) = 0.89] "6.89] | g [ LI 85> E 3R T 0.16] 0.16] 015
MERS E B ESmR(12/10) | - 0.38] 050 E BXB AR 0.16] 0.15] 017
% R[E R 5=\ S R&i(12/10) = 068 066 & I R ERARE 0.19] 0.19] 019
SFEZBE2/10) = 068|050 x WARE BHESH 0.18| 0.19] 0.18
% 1 0 FAAREEREL S 037| 0.36] 033 # E[HELARE 0.18] 0.16] 017
SR/ BESH 052 046[ 047 T | EXAEEE 0.19] o0.19] o018
& 1 1 Bﬁi%ﬁﬂ‘]ﬁﬂ%—t"za— 062| 068] 065 x [ KEARE 0.19] o0.19] o018
BRI —S N 0.64| 054 060 = EEEER 0.26] 026 022
% 12 EE;E 5> 28R 1L O v Al 095| 083] 086 = MEEEER 0.31| 031] 035
B =5 0.74| 071 067 = W HAEMAXAREE 0.49| 045| 041
HE Hh 5 4 | 10/7 | 11/9 kB B|ENEERIEMREy B AR 0.27] 0.23] 0.26
5 R(IBS R/ PRI 0.13| 0.14] 0.15
I R[IVRZA REE 0.14] 0.13[ 014 - — N 20
= Eﬂ’n%l AEUETTED 024 021| 020 ﬁﬁﬂj@ﬁﬁﬁﬂ“ﬁf%’g@%__y ) /7?%%
ﬁ;i{i ;’775“%‘& BREE — 8-;8 8-;3 RRFPOWSEMEETRET S0, 'n—‘y‘é%ﬁ_%zkﬁll
T ﬂ?T)@{ngl,;'?/h S - 556l 655 MERMF TG (REPOMEFRER) AEFToTH
& BT[RBT AR 017 0.17] 017 2%70 .
N  ABARE 021 018| 021 HOBRERRIITEOESYTT,
Rl RS EE - 020 033 [ug | aza AR RE (NJL L, m3)
* BT| B4 & 0.15] 0.14] 0.14 “ I9%131 |2 9 L1349 L4137 A9%132 FILIL132
it EZE;)% %ﬁjji =P Q.27 8:122 8:122 1A7E | T | Fee | Fad iR TR
/\
& I 2 BLASARE 0.34| 034] 032
% TR X R T 028 028 022 |mam|''B1E| THRE | FRM TR e s
HEE 2 i
g = fgﬁi%;iﬂﬁ 8:23 8:2; 8:22 W5 mism| mmm | em | e iR TR
i3 2|BTE# X JEEF . . .
E s AR ARl 525 028l 053 nAsA| Faw | Few | vRs | Tew | T
i X /N
i Zds ﬁéﬁ%%ﬁ;;‘ﬁﬁﬁ 8:23 8:25 8:2? 12898 | Tae | ey | Fad iR TR
x Bl XEZEMESF 043| 041] 035 L= - .
R I T 0471 046 039 LECDFERML, AFRMHADKRIAIC 35”'5715(%7
R RIBRIBE % BRESH 0.36] 0.37] 030 M¥MEBEOENMIIZEOHOSNFTEA.3ARICEESE
B 0.32] 0.33] 0.30 1 L] e =
L JEEER oo orlon ErnRRMOGALIRMLLS T]&%ﬂi%ﬁu
1t | EBEBIS1 =TI 0.49| 046] 041 g_ﬂ }Q}"éd)ﬂ}ﬁg i%ﬂ[l(i@ !g-u—AJO)’C_glL,\(T—
UIREBRARE 044] 044 039 X\
5 AR RS 049 047 042 °




